Name: ________________________________________

Attachment Refresh!
1. According to the Learning Theory of attachment how do we acquire all behaviours? ___________________________________________

2. Which side of the nature/nurture debate is the Learning Theory on? ____________________________________________________

3. Which behavioural technique does the Learning Theory suggest attachment is learned? _______________________________________________

4. Classical Conditioning is learning by _____________________________

5. Conditioning programme (fill in the blanks according to attachment) – 

Before Conditioning:

_________________________ PRODUCES ________________________
		(UCS)								(UCR)

e.g. ______________________ PRODUCES e.g._____________________


During Conditioning:

________________ + ________________ PRODUCES _________________
		(UCS)			    (NS)		     			(UCR)	
   e.g. _____________ + e.g. _____________ PRODUCES e.g. _____________

After Conditioning: 
_________________________ PRODUCES ________________________
		(CS)								(CR)

	e.g. ______________________ PRODUCES e.g._____________________


6. Why does Harlow provide negative criticism for the Learning Theory? _____________________________________________________________________________________________________________________________________________________________________

7. Who suggested the Evolutionary Theory? ________________________
_______________________________________________________

8. What are social releasers? __________________________________
______________________________________________________________________________________________________________

9. According to the Evolutionary Theory the drive to have one main attachment is called _______________________________________

10. What is the Internal Working Model? __________________________
_____________________________________________________________________________________________________________________________________________________________________

11. The Internal Working Model works on the Continuity Hypothesis, what does this mean? __________________________________________
______________________________________________________________________________________________________________

12. According to the Evolutionary Theory attachment is ______________?

13. [bookmark: _GoBack]The time from birth to 1 ½ years is known as what period? _______________________________________________________

14. How does the attachment gene work in the parents? _______________
_______________________________________________________

15. Why does Lorenz provide support for the Evolutionary Theory? _____________________________________________________________________________________________________________________________________________________________________
